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— BTRT 92 171259 K92 DOIR
That He created everything for His honor, and He forms man

OVERVIEW
The X 13 enumerates the 2°1n1 M>72. Our MBOIN discusses why some of the N1272
begin with a '"7172', while others do not.'

- 2095305 7990 HNX 59V %9 YY 9N 1923 *nnmea
The 11572 of &12 27w and 0787 7% begin with 7193, even though that each one

of these N1572 are next to another 7o12,* nevertheless -
- NN 1993 597 NN 7N IV N 15D RY BN *11 MISPT 5

Since they are short 1373, if they would not begin with 7192, it would appear

as if they all are one 771293, therefore they begin with 7172 to differentiate them from each

other -
= 989 AYUN DTN 98 79931 NONHNN NNNY AN NN 79932 N NP KD ON 9N TUN 199

And similarly® the 715712 of 115%2 191 98> 2w (which is 7910 to 2787 7% N312 and
should therefore seemingly not begin with 7173, nevertheless) if it would not begin
with 7992, it would appear as if it is one 71572 which starts from 2787 92 7192

and continues into 197 1% MWN.’
-~ 7932 NNy 7298 1PN NIIIN 1292 9NN KXY VWIVH viv 5an

However the 71272 of wswn wyw, which follows a long 17292 (7¥° 7wX), which ends

with a 7172, does not need to begin with 7193, since it is evident that it is a separate 772

from %> WN.
= 79922 NNM N2 9UN)

And the 7572 of 893 "W (the last of the mM>72) begins with a 7192 even though it is a

" There is a general rule that a 7272 which follows another 71372 (in a regular sequence) such as in 77wy 7% or N372
1 (the second and third N1272) do not begin with "7172". Only the first 71572 of ¥"»w begins with 172",
2 Others amend this to MAMD in the plural (instead of nrnv), see footnote # 3.
? The 77912 of 0787 7% follows the 7272 of X712 »27w [and the 71972 of X172 727w may (perhaps) also be considered a
7N7an> 701057 7972 since it follows the 7372 of 197 "D RM2 (see 2,77 2100 X"WIIn on Y A"NN, see [however]
X"w1n and 9"w1an here)].
* See footnote # 1. See “Thinking it over’.
> It would seem (especially from what n9on writes later regarding %> 9wx and w°wn ww) that Moo means that
since the n1912 preceding (757w and) ¥v, which are (3"792 and) 927w (respectively), are short m>73, therefore if
951w and 1% would not begin with 7172 it would appear that they are a continuation of the previous 77572 (which is
3"1192 and X121 2onw). It would appear as if the 7572 is 7R7 7% 171257 K12 957w 7"HK °"R2 (one [long] 71912).
% See “Thinking it over’ for a possible explanation why mooIn discusses 7¥* Wy separately from 93w and 9%, even
though the question and answer is seemingly the same.
"It would appear is if the 71972 is 127 17%2 QXA DX ¥ WK DR 11 7"HK *"X2, when it is really two separate M>72.
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7N72n% 701m07 1972 and it follows a 79198 771072 (of nnwn naw), so seemingly it should not begin
with 71723, nevertheless it begins with 7172 -
- 80‘1\731‘.7:1 Y979 MIVIN D2 PRYI NNSY %92 NN DI9310Y *9Y

Because we make this 71072 of X172 2wX by itself (not following any other 11372),

when there are no nw7n 219 as 3" explained. In that instance it is not a 721207 7572
7n1an>, and needs to begin with 7113, therefore it begins with 7372 in all cases even when it is
7N72nY 70m0.

= 9NN DYV 90‘1\9:1‘,7: Y99 DINN 9899 11255 X932 DanY b

And regarding the n1572 of 171255 X2 %o77w and 2787 2%, 3"wA offers another

reason why they begin with T172.
= 19932 HNMD DTN AT YD INIIN 192

And the n'"'9 explained that 2787 92 begins with 7192 (even though it is a 7272
7N020°7 721707) -
- 7102 MINT NN DYININ 197 RYY YOV 2aY

For there were those who did not say this 7272, as the X ) shortly states
regarding "% (that he made only five m>72; omitting Q7R I¥Y).

mooin discusses a tangential issue:
= 1909 NINN H292 22N (3,5 91 HII2T NIP PI92T 0N 13229 9N

And the n''1 says that in the first P92 of m>92 noon regarding the blessings

over the 710, the texts should read -
- o NN 19937 N3 A95¥NY 2N DA 020N PNY a9

¢s""9 concluded the 77077 M>72 thus; K1 3997 (not X1 27vi) with a 1™, for 27vm
X1 iS one 7292 beginning with 770 >1272 191 *"X2 and continuing with X3 27w -
= NN3NY NNDY 2) HY OGN 79923 MNDY 998 NN M9 INY NN INT
For if 7710 °7272 and X1 27v7 are two n1293, the 7272 of X1 27v7 should begin with
7172, even though it is 770221 7210 (to 710 >"272) -
= N8P YN NAYY NIMINY 1195
Since the 77572 before X1 27v7 (the 7572 of 770 °727) is a short 71572, and we may

mistakenly assume that 81 27¥7 is part of that 7372. However now that the X07°3 is X1 27y they

are indeed one 11972, so obviously X1 27v7 cannot begin with 7172.
— Y9199 19909) KDY 10N INT 11299919 799N 121)’0‘1) 21 9N

$ mow 7"
? maw 71"72. Even though »"w there is addressing the issue why only 7%¥* wX n272 begins and ends with 7112 and not
951w and 1xv; nevertheless s™"w1 answer also explains why they are 7722 nnio.
19 27877 9% cannot be considered a proper 7n12nY 72707 7272, since not all agree that it is included in this sequence.
See "1 MX 7"210.
" Therefore we do not answer 1R between 77N °127 and 27Y.
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And afterwards (there in N>72) the text should read, ‘therefore we should say
both of them’ (27¥™ 7710 "127 [as one] and 772 WX as the second), but the text
do not read, we should say all of them’ -

290 M99 Pwowt yawn mn Py oxe
For saying ‘all of them’, would indicate that there are three 7077 n1373."

SUMMARY

The rule of 7107212 15107 71572 (it does not begin with 7172) does not apply if the
preceding n1372 are short, if they are said sometimes by themselves, or not in the
sequence. 27¥ 1s not a separate 17372.

THINKING IT OVER

Mmoo explains to us why X972 927w and %> WX begin with a 77072 (even though
they are a 7n12n> 791M07 71972.'° Seemingly how else could it be;'” if they would
not begin with a 7572 (but we would merely say 171257 X712 927w or QTR ¥Y), it
would not be a 7972 at all?!'®

"2 The text there (regarding 77077 N1972) reads: 772 207 1Y "7 ,77I0 1272 PIOYY 1"2PR SRMW K 777 "R 1127 RN
T9WA RO T RNINT 27 R LN 302 °"R2 DY 112 2 WK AR RGN ,5&'1([/’ MYL 7N PRI 2R N9 K1 2w 0On
172197 172777 79977 M9722w: Our nvoin replaces the (217 with 27w and) 11915 with 370N,
" The term “7912° refers (usually) to more than two. See (however) w"w7 who questions this assumption. See
however yIXw '01n here who writes that Xn2n 11777 00 ¥nwn 12197 (it can mean two but is usually means three).
4 99ym 770 >137 and M3 WK,
!> 39ym cannot be a separate 71372, for then it would need to begin with 7112.
16 See footnote # 4.
17 See footnote # 6.
'® See xvo7.
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